
Lösung Buchungskreislauf Übung 2 

 

Soll  8010 Haben 

Buch.-
Nr. 

Gegen-
kto. 

Betrag Buch.-
Nr. 

Gegen-
kto. 

Betrag 

7. 2010 2.585.000 € 1. 0240 2.100.000 € 

8. 3320 200.000 € 2. 0750 300.000 € 

9. 3550 90.000 € 3. 0810  120.000 € 

      4. 11 300.000 € 

      5.  1710 30.000 € 

      6. 1810 25.000 € 

∑   2.875.000 € ∑   2.875.000 € 

 

Soll  2010 Haben 

Buch.-
Nr. 

Gegen-
kto. 

Betrag Buch.-
Nr. 

Gegen-
kto. 

Betrag 

 23. 8020 2.585.000 € 7. 8010 2.585.000 € 

            

            

            

            

            

∑   2.858.000 € ∑   2.858.000 € 

 
 

Soll  0240 Haben 

Buch.-
Nr. 

Gegen-
kto. 

Betrag Buch.-
Nr. 

Gegen-
kto. 

Betrag 

 1. 8010 2.100.000 € 17. 8020 2.100.000 € 

            

            

            

            

            

∑   35.000 €  ∑   35.000 €  

 
 

Soll  11 Haben 

Buch.-
Nr. 

Gegen-
kto. 

Betrag Buch.-
Nr. 

Gegen-
kto. 

Betrag 

 4. 8010 300.000 € 20. 8020 300.000 € 

            

            

            

            

            

∑    300.000 € ∑   300.000 €  

 
 

Soll  0750 Haben 

Buch.-
Nr. 

Gegen-
kto. 

Betrag Buch.-
Nr. 

Gegen-
kto. 

Betrag 

 2. 8010 300.000 € 10. 1810 5.000 € 

       11. 8020 295.000 € 

            

            

            

            

∑   300.000 €  ∑   300.000 €  

 
 

Soll  1710 Haben 

Buch.-
Nr. 

Gegen-
kto. 

Betrag Buch.-
Nr. 

Gegen-
kto. 

Betrag 

 5. 1810 30.000 € 21. 8020 30.000 € 

      

      

            

            

            

∑    30.000 € ∑   30.000 €  

 
 

Soll  0810 Haben 

Buch.-
Nr. 

Gegen-
kto. 

Betrag Buch.-
Nr. 

Gegen-
kto. 

Betrag 

3. 8010 120.000 € 19. 8020 150.000 € 

11. 3550 30.000 €       

            

            

            

            

∑   150.000  ∑    150.000 € 

 
 

Soll  1810 Haben 

Buch.-
Nr. 

Gegen-
kto. 

Betrag Buch.-
Nr. 

Gegen-
kto. 

Betrag 

6.  8010 25.000 € 12. 3550 15.000 € 

10. 0750 5.000 € 13.  1870 500 € 

      22. 8020 14.500 € 

            

            

            

∑   30.000 € ∑   30.000 €  

 



Lösung Buchungskreislauf Übung 2 

 
 

Soll  3320 Haben 

Buch.-
Nr. 

Gegen-
kto. 

Betrag Buch.-
Nr. 

Gegen-
kto. 

Betrag 

24. 8020 200.000 € 8. 1810 200.000 € 

      

            

            

            

            

∑   200.000 € ∑    200.000 € 

 

Soll  2040 Haben 

Buch.-
Nr. 

Gegen-
kto. 

Betrag Buch.-
Nr. 

Gegen-
kto. 

Betrag 

 28. 8020 50.000 € 16. 8030 50.000 € 

            

            

            

            

            

∑   2.100 €  ∑    2.100 € 

 
 

Soll  3550 Haben 

Buch.-
Nr. 

Gegen-
kto. 

Betrag Buch.-
Nr. 

Gegen-
kto. 

Betrag 

 12. 1810 15.000 € 9. 8010 90.000 € 

25.  8020 105.000 € 11. 0810 30.000 € 

            

            

            

            

∑    120.000 € ∑   120.000 € 

 
 

Soll  1630 Haben 

Buch.-
Nr. 

Gegen-
kto. 

Betrag Buch.-
Nr. 

Gegen-
kto. 

Betrag 

14. 4010 50.000 € 27. 8020 50.000 € 

      

      

      

      

      

∑   50.000 €  ∑   50.000 € 

 
 

Soll  1870 Haben 

Buch.-
Nr. 

Gegen-
kto. 

Betrag Buch.-
Nr. 

Gegen-
kto. 

Betrag 

 13. 1810 500 €  26. 8020 500 € 

            

            

            

            

            

∑   500 €  ∑   500 € 

 
 

Soll  8030 Haben 

Buch.-
Nr. 

Gegen-
kto. 

Betrag Buch.-
Nr. 

Gegen-
kto. 

Betrag 

16. 2040 50.000 € 15. 4010 50.000 € 

            

            

            

            

            

∑   50.000 €  ∑   50.000 € 

 
 

Soll  4010 Haben 

Buch.-
Nr. 

Gegen-
kto. 

Betrag Buch.-
Nr. 

Gegen-
kto. 

Betrag 

 15. 1630 50.000 € 14. 8020 50.000 € 

            

            

            

            

            

∑   50.000 € ∑   50.000 € 

 
 

Soll  8020 Haben 

Buch.-
Nr. 

Gegen-
kto. 

Betrag Buch.-
Nr. 

Gegen-
kto. 

Betrag 

 17. 0240 2.100.000 € 23. 2010 2.585.000 € 

 18. 0750 295.000 € 24. 3320 200.000 € 

 19. 0810 150.000 € 25. 3550 105.000 € 

 20. 11 300.000 € 28. 2040 50.000 € 

 21. 1710 30.000 €       

 22. 1810 14.500 €       

 26. 1870 500 €    

 27. 1630 50.000 €    

∑   2.940.000 €  ∑   2.940.000 € 

 


